Capacitated Vehicle Routing Problem
with Time Windows
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Capacity

can transport up
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DecisioniVakiables

{1, 2,5} a b {3, 6..10}

C
{2,7..12,15}



Consthaints

{1, 2,5} a b {3, 6..10}

2*a = b+c
b-3 < C

C
{2,7..12,15}



ValidiSollition

a=5 b=3
/2*a=b+c
"
c=7



MiRiZinciaSoukcejcode

var 11,2,5}: a:
var {3} union 6..10: b;
var {2,15} union 7..12: c; b{3, 6..10}

constraint 2 * a = b + c;
constraint b - 3 < ¢;

solve satisfy; 2*%a = b+c b-3 <c

C

{1, 2,5} a {2,7..12,15}



Optimisation

1solve minimize total_distance;|
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All used vehicles leave the depot

oas early as possihie oflllly loaded



Whatis the vehicle's

eléaving ime eremaining load



Load Propagation

Predecessor
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Predecessor Array
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Objective

1solve minimize sum(c in CUSTOMER)
(

dist[pred[c],c]

+

dist[c, DEPOT] * last[c]
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